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READY FOR A CHALLENGE?

Directions: Find the value of each symbolin the area model below so that the entire box represents the value:
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Key:

13x9

Heart=10
Potion=5
Teddy Bear=15
Cupid=12

Area Models work like a Bingo Board

where each box represents the product of its
corresponding column and row and the sum of
all four inner boxes represents the total.

10x10i0 ] 1412 = 168
o[ >100 |40 > 19
20
y 20 8 + 8
168

Mashup Math LLC | All Rights Reserved | Get more fun K-8 holiday-themed math activities at www.mashupmath.com



